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Compary Date From Job Number
Jan | JJebhumber  ~| [iczoon <] | 123458
Groups Productive Status Date To
IA” j |A|| ;I |25;02;2007;| Record Count = 2
|| Date Name Job Code | On [R] [0 [R] | Taken [Alowed | AutoClock
p |26/02/07 Joe Blogs 123456 | 10 (0215 1005 (183|183 Yes
26/02/07 Joe Blogs 123456 | 10 (14:00 |14:03 (005 |067 Yes
Job Detail
Job Mumber | 123456 Time Clocked E Total Taken -
Mon Prod Dess Time Soid | 183 | Tolal Sald / Alowed [ 25 |
Date Labour Cost | E18:17 |
Emplopee [oe Blogs Op Code 10 k?l Job OK
ON [Actusl] E Founds Closed [ Yes [[02/04/07]
OFF (ctud) [1008] Founded Updated | Yes [N Fecord|D 48852
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Jate ID Name Joh Activity On off o Taken Sold Cost
12/207 102  CBlack 61006 Warranty 08:03 09:21 100.0% 1.32 132  £17.27
100.0% 1.32 1.32 £17.27

otals for 12/0_.__ _. 100.0% 1.32 1.32 £17.27
13/207 102 CBlack 61006 Warranty 07:51  10:.07 100.0% 227 227  £29.74
61006 Warranty 10:24  13:36 100.0% 3.20 3.20 £41.98

100.0% 5.47 5.47 £71.72

otals for 13/02/2007 100.0% 2.47 5.47 £71.72
14/2/07 102  CBlack 61006 Warranty 09:37 10:06 100.0% 0.48 0.48 £6.34
61006 Warranty 10:25 1313 108.2% 2.80 3.03  £36.74

107.0% 3.28 3.51 £43.08

otals for 14/02/2007 107.0% 3.28 3.5 £43.08
irand Totals 102.3%  10.07 10.30 £132.07
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